CIELAB data LCH%, of maximal coloursM of the four systems: NRS00, SRS00, NRS18, SRS18

Natural reflective system: NRS00 Standard reflective system: SRS00

b* b*
LCH=(50100 92§ " | Cye, \=(50 84 52) LCHW=(50100 9}~ | CH+, \=(50 87 52)

N R LCH*=(50 100 150)/ N LCH?=(50 100 30
LCHAM=(50 100 162 LCH*M=(50 100 26) M

a* ( a*
LCH*=(50 100 217) LCH*=(50 100 329)LCH*y=(50 100 210) LCH*4=(50 100 330)
LCH*y=(50 100 272) LCH*\=(50 100 270)
Natural reflective system: NRS18 Standard reflective system: SRS18
b* b*

LCH*\=(56.7 77.4 92) LCH*\=(56.7 77.4 9
LCH*\=(56.7 77.4 150,
LCH*\=(56.7 77.4 26)

a*

LCH*3 M=(57 65 52) LCH*y M=(57 68 52)

LCH*\=(56.7 77.4 162 LCHA=(56.7 77.4 30

a*

LCH*\=(56.7 77.4 21

LCH*=(56.7 77.4 21X LCH*\=(56.7 77.4 329)

LCH*\=(56.7 77.4 330

LCH*\=(56.7 77.4 272) LCH*\=(56.7 77.4 270)
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